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CONDEMNATION FOR REJECTING CHRIST
(Matthew 12:38-42)

I. The Ultimate _______________ (Matt. 12:38-40)

A. The _____________________ (12:38)

1. Presented by the ________________ and ____________________

a. Known as supreme _______________________ and 

_______________ of the Mosaic Law and Jewish tradition

b. Known for ________________________________________

2. Demanded a __________ to _____________ Jesus’ 

_____________________

a. May have wanted a ____________________________________

b. May have wanted a ____________________________________

B. The ________________ (12:39-40)

1. Denounced as “an ________ and _____________________ generation”

a. Knew their ______________________

b. Knew their ______________________

2. Declared they would have _____________________ but the “sign of 

_________________”

a. His ______________ from three days and nights in the 

“______________ of the ___________________________”
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b. Depicts Jesus’ _____________________ after three days and 

nights in the “_____________ of the _____________”

II.  The Ultimate ___________________ (Matt. 12:41-42; cf. Jonah 3:5-6; 1 Kings 10:1-13)

A. Contrast with the ________ of __________________ (12:41)

1. They “_________________ at the ________________ of ____________”

a. Who performed ___________________________

b. Who preached a message of ___________________

2. You ________________ one _________________ than _____________

a. Who performed _______________________________________

b. Who preached a message of _____________________________

3. They will __________ to testify ________________________ in the 

_________________

B. Contrast with the “_____________ of the _____________” (12:42)

1. She __________________ the _______________ of ________________

2. You __________________ one _____________ than _______________

3. She will __________ to testify ________________________ in the 

_________________

C. There is no ____________________ than _______________ of _____________

1. The problem is ____________ a _____________ of ________________

2. The problem is ______________ a _______________ of ____________
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